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#include <stdio.h>
int func1(int a. int b){
printf("%3d %3d\n", a, b);
if (b ==0) return a;
elseif (a % 2 && b % 2)
return funcl((a+b)/2,(a-b)/2);
elseif (2% 2 && 'b % 2)
return funcl(a, b/ 2);
elseif ('a % 2 && b % 2)
return funcl(a/ 2, b);
else
return 2 * funcl(a/2,b/2);

int main(void) |
mtx=19,y=2:
printf("%3d", funcl(x, y)):
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#include <stdio.h>
#include <stdbool.h>
bool func2(int A[], int x, int y){
if (x>vy) return false;
else
intm=(x+y)/2;
printf("%3d %3d %3d'n", x, m, y);
if (Alm] = m) return true;
else if (A[m] > m) return func2(A, x, m - 1);
else return func2(A, m + 1, y);
|
}
int main(void) |
int a[] = { 35, 60, 45, 7, 10, 22, 2, 50, 14, 3, 66}
printf("%3d", func2(a, 1, 10));
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def func 2 1(x):
y=2
while y <= x:
flag = True
for 1 in range(2, &)
ify%i=—
flag = False
break
if flag = True:
print(y, end="")
y+=1
if pame =" main ™
x = int(input('ZE &8I A —1F 228 : )
print("#l HEE
func 2 1(x)
print("n ")
()11 T H_#-x =[5, 16, 30, -11, 26, -22] A #cE 5| > 1% Fie R o d L PR E ] ¥
kot & — X @ s)ehpython A 4258 o
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if pame =" main ™
x =[-5, 16, 30, -11, 26, -22]
print(BF & Al ', end=")
for 1 in range(6):
print(" x[%d] =%3d' %(i, x[1]), end =")
func 2 2(x)
print()
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()
1 func_ 2 2(arr):
print()
for 1 1n range(len(arr) - 1):
print("5% %d WEET " %(i + 1), end = ")
[or 3 1n range(0, len(arr) - 1 - 1):
1Doarr[g] > arr[y + 1]:
temp = arr[]]
arr[j] = arr[j+1]
arr[j+1] = temp
[or k 1n range(len(arr)):
print(" x[%d]=%3d" %(k,x[k]),end = ' ")
print()
name_ = "__main__"

x =[-5,16,30,-11,26,-22]
print("#F fF Al ", end = ')
[or 1 1n range(6):
print(" x[%d]=%3d" %(i,x[i1]),end = "")
func_2_2(x)
print()
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class Rect

:

public:
explicit Rect(double = 1.0, double = 1.0);
void setWidth(double w):
void setLength(double 1);
double getWidth() const;
double getLength() const;
double perimeter() const;
double area() const;

private:
double length;
double width;
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‘include <jostream>
nclude <iomanip=>
clude <stdexcept>
include "Rect.h"
using namespace std;
nt main()+{
Rect x, (3.0, 4.0);
cout << fixed;
cout << setprecision(1);

cout << "X: length =" << x.getLength() << "; width="
<< X.getWidth() << "; perimeter =" << X.perimeter()
<" area =" << X.area() <<'n';
cout << "y: length =" << y.getLength() << ": width ="
< y.getWidth() << "; perimeter =" << y.perimeter()
<", area =" << y.area() <<'n';

]
)

HAREAT

¥: length = 1.0; width 1.0; perimeter = 4.0; area = 1.0

v: length = 4.0; width = 3.0; perineter 14.0; area = [2.0

% 11 Rect.h ¥ & Rect() > setWidth( ) - setLength( ) » getWidth( ) > getLength( ) > perimeter( ) °
area( )& C++dndic > hx2 F i 8o TSk ar i o (25 »)
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1H Rect::Rect(double w, double 1) {
2 setWidth(w);

3 setLength(1);

4t}

5

6 void Rect::setWidth(double w) {
7 width =

8-}

9

18 H void Rect::setlength(double 1) {
11 length = 1;

12 L }

13

14H double Rect::getWidth() const {
15 return width;

16 L }

17

18 H double Rect::getlength() const {
19 return length;

20 L}

21

22H double Rect::perimeter() const {
ZBEE return (width + length) * 2;
24 L }

25

26 double Rect::area() const {

ETEE return width * length;

28 L1}
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import java.util.Scanner;
public class LSE111 r4 2 {
public static void main(String[] args) {

Scanner input = new Scanner (System.in) ;
System.out.print (" A —FLH: ") ;
int value = input.nextInt();
String oS = "";
while (value !'= 0) {
int s = value % o;

0S5 = 3 + 05;
value = wvalue / o;

}
System.out.println ("d5 [\ 5: " + 0S);
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"1 public class app {
2
3 public static void main(String[] args) {
4 int x, y;
5 int sum;
6 for(x = 1; x <= 10000; x++) {
7 sum = @,
8 for(y = 1; v <= x [/ 25 y++) {
9 if(x %y ==0) {

10 sum += y;

11 }

12 )

13 if(sum == x) {

14 System.out.print(x + " ");
15 )

16 }

17 )

18 }
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